N = 0l & AF & F Al A

M HA1S
o

HE: FOUXXME Jer2sH(UHHA1S)
©el: FURNXNMH 22 HASH(HAH1S) (el =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ HusZ
He1s 103,834 108,464 4,630
FORXIME JIBHASHHH1S) 62,489 62,669 A 180
FOUXXMEH 29 WASHHETS) 62,489 62,669 A 180
SF0ME =X # X7 7,039 7,219 A 180
201 et=gl 6,339 6,519 A 180
01 AtR2telH] 1,456 1,984 A528
O SodE RUBHIAAY 2
88,000& 123 1,056
O &g+=% 100, 000& 44 400
02 3323l 4,883 4,535 348
O gz 9503 *BAl 2H*30H 752 *90% 1,539
O S=UdH AME7I 2,953&+359.47m %0.7 744
O #HZH ZelKX(LBI] ZF)
200,000 »4CH 800
O sxE(AEEE) 2,000, 0002 = 1CH*90% 1,800
301 et a= 700 700 0
04 HEHUHIA2EHI 700 700 0
O &3l 100, 000 *17H CH 100
O 2tAld| 50,0002 *1JHCH+ 12 600
.8t g3sdl A& 53,950 53,950 0
301 LetEd= 53,950 53,950 0
05 &-cl-eadas2ds 53,950 53,950 0
O 8% 49,600
-JI2sE & 402 200,000&*16Z x143] 44,800
- 3loY 20,0003 x 16 »153] 4,800
O praEegy 25,0003 87 »23] 4,350
FOXXIRIEE 2 1,500 1,500 0
301 et a=z 1,500 1,500 0
12 JIet24 =3 1,500 1,500 0
O =2UXXAd &84
10,0003 »25H 63! 1,500
HY2AZHI(HAH1S) 41,345 45,795 N4,450
AR EH(AH1S) 8,432 9,588 A1,156
IHERIEH(HHE1S) 8,432 9,588 A1,156
203 ¥R =& 8,432 9,588 A1,156
01 J|2=2Z Y= 5,610 6,600 A 990
(O=F~ 6,600, 000& *85% 5,610
02 FEIMMMPLF=LH| 272 288 A 16
O It R=8H| 40,0003 «8H %85% 272




2AM: Uals
M W2 AT (HS)
el QIEARIHI(HHE1S) (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
04 RAN2IHRFAHI 2,550 2,700 A 150
O BEA2IERF=AHI 250, 0003 * 123 x85% 2,550
[2ZH(HH1S) 32,913 36,207 N3,294
Jl23H(te1s) 32,913 36,207 A3,294
201 LetHH| 13,713 16,007 N2,294
01 AtR22/Hl 5,856 7,220 N 1,364
O get=&Hl 40,0002 x8H 128 3,840
O BAII=gRss I
7,000 «8H «341«12E 2,016
02 2323l 7,857 8,787 A 930
O &= 350,000 *12& *95% 3,990
O ®EE 200, 0003 * 12 x95% 2,280
O & o=z 100,000 «6& 600
O NHsSHEEz(a832) 354,000& *12] 354
O XS ZHAl 29,000& *13] 29
O &Estx A4l 16,7002 +(1,230& *10m") 29
O 293 A4 40,000& *13] 40
O g3MEREE= 210
- Xt 70,000& *23l 140
- s3gdg 35,000& »23] 70
O HIItHAA =2 100,000& 13l 100
O CA-TV === 18,7003 123 225
202 O4Hl 19,200 19,200 0
01 =Yl 19,200 19,200 0
2 LAY 20,0003 x8H «103 x12& 19,200
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SA THO2S
I ™S PP (HHe12S)
ol ol | ((He12s) EE-ED
_ _ MNuE o
SN B SRA(SIH) - MBAY - BAS 0l &k 24 0l ot o ClImEE
BHS A (H25) 41,162 46,353 £5,191
ol 2oyl (HHei2s) 8,432 9,588 A1,156
ol ol (He12s) 8,432 9,588 A1,156
203 PREXY| 8,432 9,588 A1,156
01 JlB#S PR FAY| 5,610 6,600 990
O =& 6,600,000%! *85% 5,610
02 HRAI}AYDRET| 272 288 A16
O BANMYLSFTY| 40,0008 8 *85% 272
04 SNSHYSET| 2,550 2,700 A 150
O SNSYALFI  250,0009 * 122 +85% 2,550
Jl2ZtI(tees) 32,730 36,765 14,035
12 (He2s) 32,730 36,765 14,035
201 Lete gyl 13,530 15,465 A 1,935
01 At 22l 5,856 7,220 A 1,364
O 2N2ZI24+8H 40,0009 +8 % * 12 3,840
O 2NIIZge4+8 SAl
7,0002! «8 *34!» 128 2,016
02 2B2H| 7,674 8,245 ABT1
O Batx FAH 45,0002 *13] 445
O 293 A=HA 50,0002/ %13 50
O SFOME BYWL2LYS 38,0008 +23] 76
O Xy #AWURLS 55,0002 %23 110
O w2 200, 000! * 122 *95% 2,280
O ®Jlg 310, 000! * 122 *95% 3,534
O & o+E8 80,0002 %63 480
O USAA 30,0002 13 30
O Nsi2EE 450,0009 *13| 450
O MIIQAHAALAE 60,0002 *13] 60
O |uYEASE 6,6002 20 *122 159
202 01t 19,200 19,200 0
01 201l 19,200 19,200 0
O =& =0ty 20,0002 +82 103 + 122 19,200
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O
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88,000& 123
100, 000& +80H

2,956&*720.14m «0.7

SELM(SSLSIIEE)

200,000& 252

=X 2=t

243,000& «128
3,000,000 «1CH

1,856

1,056
800

12,407
1,491

5,000

2,916
3,000

2,284

14,981

N428

N2,574

301 Lered

700

1,050

A 350

04 LY

100,000 * 1CH CH
50,0003 x1CHCH+12&

700
100
600

1,050

A 350

102,400

102,400

102,400

102,400

200,000 29 x142]
20,0003 29 «152]
25,0003 #250H #2323

102,400
89,900
81,200

8,700
12,500

102,400

1,500

1,500

1,500

1,500
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10,000 x25F #62
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1,500

1,500

0
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M
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o
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64,815

A4,409

8,568

9,732

A1,164

8,568
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A1,164

8,568

9,732

A1,164
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5,610
408

6,600

432

A 990

N24




2A: tHe3s
B HE 2T (H3S)
Chol: Q2| (He3S) (el &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
O HJIJArE R =R 40,000& *12H *85% 408
04 2EANSEPRF=AH| 2,550 2,700 A 150
O BEANSIERFEY| 250, 0003 x 122 *85% 2,550
JI2dH(HH3s) 51,838 55,083 N 3,245
JI2dHI(HH3s) 51,838 55,083 N 3,245
201 LEH2AH| 23,038 26,283 N 3,245
01 At Zeltl 8,784 10,829 A2,045
O BEN2Y90I8 =24 40,0003 x12H x12& 5,760
O EXN2Y9II2 S
7,000 x 12«34 x 12 3,024
02 S=s2494| 14,254 15,454 A 1,200
O 83X =HE=xxE
16,7002 +(12,300& x10m") 140
O 2d3 o5 & HA 60,000& *x13] 60
O DIA H)| AMEE 36,000& x12& 432
O st&EA MEMH Y e AEE
30,000& x12& 360
O &= 500,000& x12& 6,000
O RE= 500,000& x12& 6,000
O XS Al 30,000& *13] 30
O NsxEgs 500,000& *13] 500
O 4otz 60,000& 63| 360
O SEMNEBE2(XE L AILdR)
170,000& *13] 170
O MIItEBAI==T 70,000& *x13] 70
O CA-TV =22 11,0003 = 12& 132
202 (4 28,800 28,800 0
01 2| 28,800 28,800 0
O MNE=2UWod| 20,000& 128 *103| *12& 28,800




2A: Ud4s
M FOUXXME JIBHASHHHA4S)
thel: =OUXNXAE 22 HWASHUHH4LS) &
SN C(BH) - NRAY - HES Aro Bl 2
Ol &k
tHelds 124,728 128,238 A3,510
FOITXIME D23 H4S) 77,994 78,692 A 698
FUXNXHE 29 WASHHALS 77,994 78,692 A 698
STOHEH S 2 XtE2el 6,794 7,792 A998
201 LEt23d| 6,094 7,092 A998
01 AbR22lH| 1,456 2,284 A 828
O sxUdH SelZHIAAE 23
88,000& x12& 1,056
O 8% 100, 0002 =44 400
02 5234l 4,638 4,808 A170
O SF0HEH AMEsX 2,953& xbb4 52 m 1,638
O dHEHHl 2= 200,000& x53] 1,000
O sxg(Arda=) 2,000
301 LEEAZ 700 700 0
04 NHELHUHR 2L 700 700 0
OR=1_1:1 100, 0002 *1JH CH 100
O ZtAH| 50,0003 1 CH+12& 600
s - gE 2=t 69,400 69,400 0
301 et24a = 69,400 69,400 0
05 &-cl-EtEEsEas 69,400 69,400 0
OF=F 62,000
Il 2 403 200,000& 20 *142| 56,000
-3|olg 20,0002 20 *153] 6,000
Ot 4 50,000& 148 7,400
X3S 23 1,800 1,500 300
301 LEEAZ 1,800 1,500 300
12 JIEtE4 3 1,800 1,500 300
OFUXNXAAS 3oz DA
10,0002 *30H *6 2| 1,800
MY 2HHH(UH4S) 46,734 49,546 AN2,812
QIHA A (HHLS) 8,466 9,624 A 1,158
ol (THe4S) 8,466 9,624 21,158
203 HRF&H| 8,466 9,624 A1,158
01 J|22IHFF=&HI 5,610 6,600 A990
O s 6,600,000& *85% 5,610
02 FRANMAMHSFAHI 306 324 A18
O Zaorg R F=&d| 40,0003 *9H *85% 306
04 ENBILRSFEH| 2,550 2,700 A 150
O BEMSZYRFEI 250,000 * 12 *85% 2,550




SN O
=R

ok

22
J2

20
B
2

2ZH(HH4S) 38,268 39,922 A 1,654
2ZH(HH4s) 38,268 39,922 A1,654
201 LEH2 | 16,668 18,322 A1,654
01 At 2t2lbl 6,588 8,122 A~1,534

O BAE2gllEs 40,0003 x9H x 12 4,320

O BAJI=2gR=

, 0003 x9H 34l x12& 2,268
02 32234l 10,080 10,200 A120

O #3MNERE= 220

- Xt 60, 000& *23] 120

- SS0dH 50,000& *22 100

O &3tz dEa 17,045%+12,700& »21.75m 294

O HIItHH A 60,000& 12l 60

O XNSIH(AEEE) 50,000& *12] 50

O sRE= 250,000 128 3,000

O &= 450,000& 123 5,400

O &-.ot=kx2 80,0002 68 480

O =28z (L8aE2) 400,000 * 12 400

O AMOEV =2 8,800& 122 106

O 83384 & 4= 70,0002 %12 70
202 Oddl 21,600 21,600 0
01 =LHOYI 21,600 21,600 0

O & =Uodl 20,0003 x9H 102/« 123 21,600




M HHA5S

HE: FOXXME JIer2sH(HHES)
©el: FUXXNMH 22 HASH(HHES) (et =3
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ HusZ
s 112,943 118,075 N5,132
FOXXIME It SHHH5S) 66,848 69,508 A2,660
FOUXXMEH 29 WASHHHESS) 66,848 69,508 A2,660
SF0ME =X R X2t 7,048 9,558 A2,510
201 et=gl 6,348 8,858 A2,510
01 AtR2telH] 1,456 2,284 A 828
O SodE RUBHIAAY 2
88,000& 123 1,056
O &g+=% 100, 000& 44 400
02 3323l 4,892 6,574 N 1,682
O S=0UdH ANERI 2,953 «644m «0.7 1,332
O Hgoz 1,000 *8Al 2tx10H*70L 560
O #Z¥&Mlscl & S uH 1,000,000 *14] 1,000
O sxe(agaE) 2,000
301 LetEd= 700 700 0
04 N=s2LHUI 2 700 700 0
O 83| 100,000 *1JH CH 100
O 2tAld| 50,000 x1JHCH+12& 600
sgE 234 58,300 58,450 2150
301 Let2a= 58,300 58,450 A150
05 &-cl-egEas=2as 58,300 58,450 A150
(O=F~, 52,700
-Jl2+E & 403 200,000& 17 *142] 47,600
- 3l 20,0003 17153l 5,100
O praegs 50,0002 112 5,600
FOXXE2 2¢ 1,500 1,500 0
301 LEtE2HS 1,500 1,500 0
12 JIet24a=3 1,500 1,500 0
O =UXNXEs FAL24
10,000 x25F *62| 1,500
HE2IZH(HASS) 46,095 48,567 N2,472
ol 2HHI(HH5S) 8,466 9,624 A~ 1,158
olA2HHI(HAH5ES) 8,466 9,624 A~ 1,158
203 AR =& 8,466 9,624 A~ 1,158
01 JI 22 LR=LHI 5,610 6,600 A990
O &% 6,600,000 *85% 5,610
02 HRIMMHRE=EH| 306 324 A18
O HAINHFRFEH| 40,000% *9H *85% 306
04 BA2SERF=LH 2,550 2,700 A 150




M HAHES
M WE2 AR (0e5S)
CHel: HEARHH(UHHES) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O BAN2gg 24| 250,000 * 122 *85% 2,550
|2 3HI(HHe158) 37,629 38,943 A1,314
Jl2ZHI(tHe5sS) 37,629 38,943 A1,314
201 Bt 16,029 17,343 A1,314
01 AtS2t2iHl 6,588 8,122 AN1,534
O get+=Ed| 40,000 x9H *12& 4,320
O =AlEgRLY SuY
7,0003 +QE «34 x 122 2,268
02 3323l 9,441 9,221 220
O &FHNdeE=3 200
- X 60,000 *22 120
- SS0dE 40,0003 #23 80
O datx dHa 16,700 +(12,300& »7m") 103
O =g83a2s ¢ Ea 70,0002 %12 70
O XS XHAl 29,000& *13] 29
O HsiH=Ega 500,000& *13! 500
O vgdEgs 0182 13,2002 128 159
O !#Ex 250,000& =128 3,000
O &Iz 400,000& 123 4,800
O & -ot=&&2 80,000 =62 480
O &I B A== 100,000& 12/ 100
202 Oddl 21,600 21,600 0
01 =LHOYI 21,600 21,600 0
O &3 2o 20,0003 x99 x105| «12& 21,600




M HHo6s

M FOUXNXIME It (HHES)
¢el: FUTNXNEH SIUHASH(HAS) (el &)
SN CR(EH) - NRAY - BES 0l & 24 e BlnE2
s 104,209 109,433 Ab224
FORXIME IS HHAS) 62,597 63,965 A 1,368
FOIXNXNEH 2SUHASH(HHAS) 62,597 63,965 21,368
sFUHH |X ¥ Xtz 6,747 8,115 21,368
201 B3| 6,047 7,415 21,368
01 AtE222lHl 1,456 2,624 AN1,168
O s=dle RUABHIANAY 2
88,000& »12& 1,056
O 89 100, 000& *4H 400
02 2234l 4,591 4,791 A 200
O tgoz 50,000& =83l 400
O S=0dH AE=A 506m**3,362& 0.7 1,191
O #EZEHl 227X 200,000& »52] 1,000
O s (A8s2) 2,000,000& = 1CH 2,000
301 EtEA = 700 700 0
04 tEHHUHIA2HHI 700 700 0
O 25l 100,000& 100 CH 100
O 2taly] 50,0003 x1JHCH=12& 600
SgE 23t 54,350 54,350 0
301 LptEasg 54,350 54,350 0
05 -2l -EEs243 54,350 54,350 0
os& 49,600
2" 2 40 200,000& *169 x 143 44,800
-3l o= 20,0003 16 x153] 4,800
OgtEEd 50,000 x95& 4,750
FUXX P2 1,500 1,500 0
301 et as 1,500 1,500 0
12 JIEtEA S 1,500 1,500 0
OFRXXJs B4 10,000 x25H 63 1,500
HY2IZH(HAGS) 41,612 45,468 A3,856
olAR Y| (THES) 8,432 9,588 AN1,156
ol A (HY6S) 8,432 9,588 N1,156
203 HRF4Hl 8,432 9,588 A1,156
01 JI22IHRF&H| 5,610 6,600 A 990
O s% 6,600,000 *85% 5,610
02 HAINMMIRF=EHI 272 288 A 16
O ZJ PR =AY 40,0003 *8H *85% 272
04 RN2ILRFLH 2,550 2,700 A 150




A HH6S
B HE 2T (H6S)
Cel: HEA2HH(UHH6S) (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
O BAN2gg 24| 250,000 * 122 *85% 2,550
[2ZHI(HH6S) 33,180 35,880 A2,700
Jl2ZHl(tHees) 33,180 35,880 A2,700
201 Bt 13,980 16,680 A2,700
01 AtS2t2iHl 5,856 7,220 A1,364
O get+=Ed| 40,000 x8H *12& 3,840
O =&l 7,000 x8H 341« 12E 2,016
02 E&2gH| 8,124 9,460 A 1,336
O &I BA =2 80,000& *12 80
O 3N RE= 74
N 7,000& *22] 14
-SF2HH 30,000& =23 60
O 83tx 4 80,000& 12 80
O =943 dE4 60,0002 *12 60
O XS XAl 30,000& *13 30
O ANsXHEEE 300,000& *13] 300
O sRE= 250,000& 12 x90% 2,700
O &8il= 400,000& » 12 x90% 4,320
O &ot=k2 60,000 62 360
O Regds MAER 10,0002 x12& 120
202 O 19,200 19,200 0
01 2SI 19,200 19,200 0
O A& =Uodl 20,0002 x8H »102] x12& 19,200




2A: =
PSES XAE Jlgr2sH(E
= e 29 WA St =) AR
- Col(3) - HRAY - BaS Aro B =2
0l &
=) 240,222 250,048 A9,826
> H Ol (231 161,615 165,292 AN3,677
HdEH 28 WASH 161,615 165,292 AN3,677
Y SA 2 XHE S1S) 18,765 22,442 A3,677
201 B3| 18,065 21,742 A3,677
01 AtE222lHl 8,782 10,088 A 1,306
O RoZFHIAIAE 2 2,112
- s30ldg 88,000& 123 1,056
- AL 88,000& 128 1,056
O 89 100, 0002 *8IH 800
O Sgagsll 24 2,870
- EUHIIECIX 200,000& »2CH =63 2,400
- SEIIECX 100, 000& 2CH 200
- 228X 7 170,000 =104 170
- MAolg Hg 50,000& »2CH 100
O 8Zad 2g+8H| 3,000
=323l 9,283 11,654 A2,371
O s=2dH ®X22| 2,953 *637m x0.7 1,317
O s&¥UAA B2 1,017&+873m" *0.7 622
O 83y Moot
82,000& 123 984
O #EFFH s 200,000& »83| 1,600
O SEHUALSAAY SN2
1,500,000& * 14! 1,500
O sxz(LrEEE) 2,500, 000& 14 2,500
O Xdt=AlE &IlEs 30,000& *12& 360
O Xlot==Ald S Xl 400,000 * 14 400
BB A Z 700 700 0
AESHUI—2EH 700 700 0
O =3l 100, 000 = 1JH CH 100
O 2taly| 50,0003 x1JHCH+12& 600
& 23 XN (ES1S8) 141,350 141,350 0
AP A 141,350 141,350 0
s-cl-EEss 141,350 141,350 0
(O —F; 124,000
-Jl2=g ¢ 4 200, 000& *40H x 143 112,000
- 3oY 20,0003 40 x152] 12,000
O gt 25,0003 »347 »23] 17,350
A3 2F (83 1,500 1,500 0
SR 1,500 1,500 0




2N BEIS
M3 FOIAME JIPASH(ES1S)
o9l FOUMXME 2Y HASHESIS) (sl
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Egﬁ HwsZ
12 JIEtE &S 1,500 1,500 0
O ZOIRXSIAE ALY
10,0002 %2524 63| 1,500
HHL AL (BB1S) 78,607 84,756 A6, 149
ol (851S) 9,741 11,104 A1,363
o2 (851S) 9,741 11,104 A1,363
203 YR 9,741 11,104 A1,363
01 JBSHAREAY| 6,715 7,900 A1,185
O s® 7,900, 0002 %85% 6,715
02 FRAIAYRETY] 476 504 A28
O FRAINYL=TY| 40,000 * 1423 #B5% 476
04 BASHAREAY] 2,550 2,700 A150
O BNSHASEXY|  250,0002 128 +85% 2,550
B (851S) 68,866 73,652 A4,786
2 ZH(851S) 68,866 73,652 A4,786
201 Yer2g| 35,266 40,052 A4,786
01 AtR2elt] 10,248 12,634 ~2,386
O BNSHIISL8Y 40,0008 * 142128 6,720
O BA2ZII=g24s8 A
7,000% 143 x341 x 122 3,528
02 B2 25,018 27,418 A2,400
O BANMRLD 260
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01 YsrBA2 700 700 0
04 RSLHHASL] 700 700 0
=TT 100, 00021+ 1H CH 100
O 2l 50,0002 * 128 600
S8 S U 52,650 52,650 0
301 YLrBAS 52,650 52,650 0
05 £-2-BEES2AZ 52,650 52,650 0
O s% 46,500
- JlE4Y L MO 200,009 152 143l 42,000
- sloag 20,000 * 153 *153] 4,500
O ergag 50,0002 %1238 6. 150
FOURRANE 2Y 1,560 3,990 A2,430
01 YsrBAE 1,560 3,990 A2,430
12 JIEtR A 1,560 3,990 A2,430
O FUNXFINE EHA2H
10,0002 *262 *63] 1,560
HHSABH (SEIE) 48,283 56,218 A7,935
ol 2| (2848) 8,466 9,660 A1,194
Ol 2| (2H4S) 8,466 9,660 A1,194
203 PRE=WY| 8,466 9,660 A1,194




SN S2E4S
B HES A (2H4S)
Chel: oA HY|(284S) (H:®2)
A BB O(B) - NEAY - BAS Of o e Hl R =2
01 J|22FHRF=&HI 5,610 6,600 A 990
o s% 6,600,000& *85% 5,610
02 HRANMMBRFEH| 306 360 AbB4
O ZaItrg R F&d| 40,0003 *9H *85% 306
04 EASIHFFEHI 2,550 2,700 A 150
O BEM2EYRFEI 250,000 * 12 *85% 2,550
Jl2ZH(2843) 39,817 46,558 AB, 741
JI23HI(2848) 39,817 46,558 AB, 741
201 LBt H| 18,217 22,058 A 3,841
01 AbR22lH| 6,588 9,024 A2,436
O BMIlE dit=2t| 40,0003 x9¥ +12& 4,320
O BAJIEYRAs SA
7,000 x9H +3AIx 122 2,268
02 5234l 11,629 13,034 A 1,405
O &=z 550,000 12& 6,600
O & stk 60,000& 128 720
O NESRLYREZ 350,000& x12] 350
O ZMERES 200
- SF0dH 50,000& x23| 100
- SHIXH 50,000& *23] 100
O H3tx HAH| 100,000& =13 100
O MsiEdz 403,180+ 1CH 404
O TSXItAl 30,000& 12l 30
O sE=z 250,000& = 12& 3,000
O CATV At8= 18,700& =12 225
202 O4H| 21,600 24,000 A2,400
01 =Wl 21,600 24,000 22,400
A2 2L 20,0003 *9H x103| 123 21,600




